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AN FRMSTA L
M AE QM 2L
&S AF - 23 A2 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 L2 A= 30,368 30,368 0
11IIEBEAS 30,368 30,368 0
0= ¥ oJ2gs +58 2@
18,000& » 600 « 123 12,960
OZY & Hijelgga MaJ S5
8903 * 100H * 60 * 128 6,408
OR2gads ZXE 4x 100,000& * 2504 & 2,500
OMsds 5L HOAES X
25,000& = 1000H A& 2,500
OE234A M=J| 2t & M0 XJ
500& * 5000 * 2& * 1200 & 6,000
Al Z oM 2t 18,023 17,614 409
101 @14l 6,789 6,380 409
M4 D12t ZE2EXNEES 6,789 6,380 409
ORYSHAE SLIHA oA 6,789
oJlEg=s 44,6403 = 18 = 120 5,357
oFFd 44,6403 * 18 = 24 1,072
o 2HAlH| 3,000& = 1&¥ = 120 360
201 LBt2E| 1,400 1,400 0
01 At 22l 1,400 1,400 0
OalFertdate 222 M2E  3,500& » 2000H 700
OISt ES 7 B A~ CHHE X &
A= 10,000& * 700K 700
202 odl 4,344 4,344 0
01 = LH 4 1l 4,344 4,344 0
OBF MBS 4257
81,000& = 2¥ * 2 * 63 1,944
Of AL CHEES 2,400
206 M= Hl 2,550 2,550 0
01 =8l 2,550 2,550 0
Onl=E 2t0121E & 7Y
8,500& * 10004 = 3& 2,550
301 et a3 2,940 2,940 0
09 SALAHIEA S 1,200 1,200 0
OXBIXA S M2ZAIA 2SI
40,0003 = 3¥% = 10 1,200
1MIIEBESS 1,740 1,740 0
OAZ+) dHMH 24
10,000& 1224 * 123 1,440
ORISEAS MONENZ 100,000& * 3A 300
elol H=Hel ot 23t 184,400 209,960 A 25,560
= 92,200
< 36,000




SN FUMEXED
BE: AE SN 2
Sl AE - 3BF MBE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 56,200
301 et a = 4,400 3,160 1,240
2 2,200
Al 2,200
09 &AL HI B &S 4,400 3,160 1,240
O0gol dgaeld &=l 4,400
= 2,200
Al 2,200
307 ©12+0I & 180,000 206,800 126,800
= 90,000
< 36,000
Al 54,000
05 BIZHRIE 3 180,000 206,800 A 26,800
ooglol sazel XNJHdH X 180,000
= 90,000
< 36,000
Al 54,000
LT ASFAEIS 2 8,900 0 8,900
< 8,900
301 L2 LS 8,900 0 8,900
< 8,900
09 HALAHIE& S 5,400 0 5,400
O% AHX AZSAMZAIR 2SI 5,400
< 5,400
11IIEESS 3,500 0 3,500
Ocsga QMEE X 3,500
< 3,500
AZoHE 2A 2 S 3,684 3,344 340
= 1,842
Al 1,842
201 Yere A | 2,244 1,904 340
2 1,122
Al 1,122
02 =224l 2,244 1,904 340
O Al & sS4t 2,244
2 1,122
Al 1,122
301 et a3z 1,440 1,440 0
= 720
Al 720
09 &AL HIZB &S 1,440 1,440 0
OALIHZAIE &St 1,440
= 720
Al 720
SAE HFU2S MM 29,500 12,000 17,500




A FOUMET R D
M AE QM 2L
Sl AE - ZE ML CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 et A= 9,500 9,500 0
11 JIEtE A= 9,500 9,500 0
OMRe St&A SH22IA 22X 9,500
402 SI2FXHE0| ™ 20,000 2,500 17,500
01 QAN ESAIEE =X 20,000 2,500 17,500
OSAE -2aza Ha X
1,000,000 = 2000 & 20,000
HHSHAY (FOIMEX D) 120,732 68,618 52,114
= 42,750
Al 77,982
Jle&ddl 35,232 35,232 0
Jl2 &4l 35,232 35,232 0
201 LBt Y| 29,112 29,112 0
01 AP 22| d| 24,912 24,912 0
OFME8Y JI=22ZHl 250,000& = 12& 3,000
OMBEE J1AUA(2AX S) 200,0008 » 12€ 2,400
OMBAIRI|D] 225 P
300,000& = 8CH » 23| 4,800
oY) dx2 50,000 = 12&€ 600
O=&H| 7,0008 * 249 * 7L « 128 14,112
02 2=2=24%H| 4,200 4,200 0
oERea 350,000& ~ 12€ 4,200
202 044l 1,920 1,920 0
01 2L Y| 1,920 1,920 0
OHlAZ2 2L Y] 1,920
203 ¥ 2 =&H| 4,200 4,200 0
04 FEASHELFFEH| 4,200 4,200 0
OS2I ELE2F=8H| 350,000& » 12€ 4,200
ol =2 HH| 85,500 33,386 52,114
= 42,750
Al 42,750
QladAY| (DI MOLA =XI) 85,500 6,368 79,132
= 42,750
Al 42,750
101 Q124 H] 85,500 6,368 79,132
= 42,750
Al 42,750
03 RIAHL*ZZXHE S 85,500 6,368 79,132
OSe At 22l AH3Y) 85,500
= 42,750
Al 42,750




SN FUMEXED
M YRS (FUMEXD)
el WEHHXI= (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NRas (=0 Max ) 679,413 637,219 42,194
WEHHXZ 679,413 637,219 42,194
HEHAH X = 679,413 637,219 42,194
701 JIEtSI HSHES 679,413 637,219 42,194
= 679,413 637,219 42,194

23 dE3 679,413




